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Maximum Marks—40
Q. No. 1 and Q. No. 2 are compulsory.
Attempt Q. No. 1 on OMR answer-sheet during the first half hour.
WA % 19 2 HAEE TR
WA H. 1 7 MCQ STUhar Ulged TeAaE Gredl.
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1. Attempt the following MCQ on OMR sheet : 10

qeie agqaEt 3 OMR St dfeher dredl

@) In ‘SWOT’ analysis, letter ‘W’ stands for ...................... .
(A)  Weaknesses (B)  Wellness
(C)  Weight (D) None of these
SWOT FRSEE W’ T o7& affaq .
(A) foehTEE (B) dHo
(C) (D) At A&

(i) Communication is an active ........ccccccuvvvveeeeeennn. .
(A)  Mental process (B) Chemical process
(C)  Physical process (D) Industrial process
TR B TH TR oo T
(A)  HEES Hihal (B) RS il
(C)  ifgewr wfswan (D) irEnfies e

P.T.O.

OEBO0614A9FF2E5C14D7862202CBAECEB



(u1)

@)

()

( 2) CN—71—2017

The following is not a barrier of communication :

(A) Closed mind (B) Distrust
(C) Faulty planning (D)  Clarity
TR TF TRl TS T

(A) dfcE (B)  tferer™
(©) W s (D) gErsed

When the message flows according to a fixed and prescribed way is

called as ..ccooevvvveeevviiinnnnnnns ?
(A)  Grapevine communication
(B) Formal communication

(C) Informal communication

(D) None of the above

Steg1 Geztaed § feeid g &hd qul:l'H'{ A I R GerreE
TR,

(A)  STTHES (B) e

(C)  SHYERI® (D) FheiE e

Principle of Timeliness, means :
(A)  Wastage of money

(B)  Wastage of time

(C)  Wastage of time and money
(D)  Proper use of time

do5d dcd WU

(A) T STuerE

(B) ~ do®l 3qeHH

(C)  So=n emfor TR S

(D)  SeEl AT IYAN
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According to principle of clarity :
(A) Idea of communicator should be clear
(B) Message should be clear
(C)  Expression of message should be clear
(D)  All of the above
TRAAT TETTHR
(A) TR Heal TR STEES qies)
(B) WeI W EE@ difes
(C) TRITH WAV T FES st

D) =l g6

This is not a part of business letter :

(A) Font (B)  Heading

(C) Salutation (D) Date

3 AEHg® T YA AT

A) = (B)  farien

(C) e D) ek
...................... is a written form of internal business communication.
(A)  Telegram (B) Memo

(C)  Letter (D) None of these
......................... %» d‘id‘id °¢4|°|le¢|°|0 W é-@’:'- ma:{ 311%-
(A) TR (B) FHI

C) (D) At RN
Second stage of listening is .........ccccceunnnn.... .

(A)  Hearing (B) Interpretation
(C)  Evaluation (D) Response
.................... gﬁ- ST W @-ﬁ -q-l-q-ﬁ 3:"%-

A)  THT (B) <19 T

(C)  HeFHa (D) wfaEre
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(x) Speech should be ...........couvvveennnnnes oriented.
(A) Audience (B)  Speaker
(C) Writer (D)  Reader
WO T e 9 sEEe TS
(A) & (B) ek
(C) TEH (D)  @Teh
(Theory)
2. Explain barriers to communication. 10
TETERANG 3TSUS T Hh.
3. Explain principles of effective communication. 10

JYTET FeIT g dd T .

Or
(fenam)
Write an application for the post of “sales manager” to Mahindra Tech. Pvt.
Ltd.
AET 3F W. @ Fwuvihe’ fam! oo TweEe o foel
4. What is communication ? Explain elements of communication. 10
HITRT TRUSl A ? HagleRdrd " T .
Or
(fenam)

State principles of effective listening.

JYET SEuMEl dcd T .
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